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q = 95
John Hogg

Daddy of Widdley Etude
a legato exercise






T = pick-hand finger tap                               


T  P   P   P   P   H   H   H sim.
12 7 5 4 0 4 5 7 12 7 5 4 0 4 5 7 12 7 5 4 0 4 5 7 12 7 5 4 0 4 5 7
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                               


12 7 5 4 0 4 5 7 12 7 5 4 0 4 5 7 12 7 5 4 0 4 5 7 12 7 5 4 0 4 5 7
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                               

 12 7 5 4 0 4 5 7 12 7 5 4 0 4 5 7 12 7 5 4 0 4 5 7 12 7 5 4 0 4 5 7
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
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                       
       

 12 9 7 5 0 5 7 9 12 9 7 5 0 5 7 9 12 9 7 5 0 5 7 9 14 9 7 5 0 5 7 9
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
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       
       

       
       

 14 10 9 7 0 7 9 10 14 10 9 7 0 7 9 10 14 10 9 7 0 7 9 10 16 10 9 7 0 7 9 10



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





        

 16 7 5 4 0 4 5 7 16 7 5 4 0 4 5 7 16 7 5 4 0 4 5 7 17 7 5 4 0 4 5 7
12 7 5 4 0 4 5 7 12 7 5 4 0 4 5 7 12


